wEr< _Aﬂﬁw AER = E%iEEi >
S N=Es F A B
SEHS
FIE ( F &R )
IRESEPOI—R%Z ( B) KD

ReodD [FTREERk « L] UE T,
MREG (BRISE) OI— 23O, KIESNSI—2EXEE

CIB L/_t<7— é(l\ L_EEDIL;\O)% ET&ODQ/E\%@ -I_/:_EEE:EL_DBA<7—

ARG )

a3 — R A A Efl & %
BIEEARE 1,660, —| 1 6 b5
SHDRFEIIIn—2X 3, 300
A DAV S By S ¢ )
FEEY 1" PI—2 3,300
SifRsREAN I — 2R 3, 300
iR AEl D —2R 3, 300
fEXX 20 —2 2, 200
EXZ4/ED—2R 4, 400
NITPE—EI—R (2FE) 2, 200
NUIPE—EI—R (4528) 4, 400
INRINGRICHREI D — R 11, 000
thZ2IN\FRIGHEID—R 16, 500
SRINGEIREID—2 22,000

T BBIFEA 15 BffnHtlD

AVAM.5¢

tR

eSS




